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Part - III _
MATHEMATICS, Paper - IT (A)
(Algebra and Probability)
(English Version) _
Time : 3 Hours Max. Marks : 75 |

Note : This question paper consists of three Sections A, B and C.

SECTION A 10 X 2 = 20
L Very Shoft Answer Type Questions. .

1) . Answler all questions.

1) Each|gquestion carries two marks,

'74: If 2 = 2 -3, then show that, z° — 42 + 13 = 0.

% Ifz=-1and z,=1,then find Arg{%] |
%z )

.. If x = Cisd, then find the value of {xﬁ - }a]
-

#‘:’H Form a quadratic equation whose roots are | & E‘J'I'-ﬁ"=

_Tdvf.-\ If .-1, 2 and @ are the roots of 2x* + 2 - Tx - 6= 0, then

find gr .
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~8._ Find the number of ways of arranging the letters of the word
MATHEMATICS.

- "Cy ="Cg, then find "°C,,.

.@ Prpvethatcn+2.{:1+4-Cg+81{j3+ ,,,,, + 22 C =3

\;9(\ Find the mean deviation about the median for the following data :
=
4, 6,9, 3,10, 13, 2. -

\‘.}l’)ﬁ. A Poisson variable satisfies P{Jf:l]-: PI{I =E}. Find
PI::X=5} - -

SECTION B 5x 4 =20
I[I. Short Answer Type Questions.
1) Attempt any five guestions.

iiy = Each question carries four marks,

% Show that the points in the Argand diagram represented by the
complex numbers 2 + 2i, —2 — 2i, —E\J‘E + ?,JEE Are the

vertices of an equilateral triangle.

A | 1 _
+ - - does not lie
“H, Prove that 3x+1 x+1 (3x+1)(x+1) |
: A
between 1 and 4, if xis real.

II
.II

] - _II L .
?é\ Find the sum of all 4 digit n&rmh&rs th m""l can be f_nrmed using Lh?
digits '11 3:- 55. :'5 g- k .. | .

¥ : |
www.FirddRanker.com t { { |



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

=| > FirstRanker com

Firstranker's chol
" Find the num or MEh‘ﬁmhnmnnmwket LN, i’him'lﬁnr com

from T batzsmen and 6 bhowlers, such that there will be atleast 5

howlers in the team.

- 2
. Dy +3x+4 . . .
\'{Q - Resolve the fraction —— — - into partial fraction,

(x - 1) (x‘l+2)

_:‘1:6 Suppose A and B are independent events with
| PI[A]——D.E, P{B}=G.T. Then compute :

) P(ANB) i) P(AUB)

iy P(BIA) ) P(AEHB‘:]

H?f;,\ A, B| C are three horses in a race. The probability of A to win the
ee 16 twice that of B and probability of Bis twice thiatof C. What

are the probabilities of 4, B and U to win the race’

SECTION C | 5% 7= 35
III. Long Answer Type Questions. |
. iy Attempt any five guestions..
iiy Each quéstion carries seven marks.

‘”1;%_.; If Cosa + Cosfl + Cosy =0= Sing + Sin 8 + Siny, then prove

that (os* @ + Cos*f + Cos’y :-2: = Sin*a + Sin®f + Sin’y -

H‘}?{\ Solve the equation x* _10x% + 2622 -10x +1=10.
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M"“\?-B,{ﬁ If the coefficients of r'", (r +1)" and (r + 2-]"'1 terms in the

Expansiﬂ-n.uf {1+:I|::]m are 1in A.P. Then show that

nz—{4r+1]n+4rﬂ—2=ﬂ

¥ 1.3 1.35 1.35.7
1. If X = i e +
M 36 369 56912

that Ox% + 24 =11.

...... f then prove

\74& Find the mean deviation about the mean for the fullc:ﬁ‘ing data’:

Marks obtained 0-10 | 10-20 | 2030 | 3040 | 40-30

No. of stludents 5 B 15 16 6

?‘nfﬂ.‘ State and|prove the addition theorem on probability.

){4\ A random variable X has the following probability distribution.

A=x 0 1 2 E 4 3 6 T

PlX=x)| 0 k 2k 2k | 3k ke d 2k Th+R

Find :
n ok 1) '~ Mean
i) P (0< X <5)

..-.._'l-_._'.._...
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